Calculating MA-APCPi payments

Table of contents

Please select the appropriate link.

2024 MA-APCPi payments

2025 MA-APCPi payments



Calculating 2024 MA-APCPi payments

The Medicare Advantage Advanced Primary Care Physician Incentive (MA-APCPi) program rewards you for helping UnitedHealthcare® Medicare Advantage members get the quality care they need to live healthier lives. When you participate in the program, you can earn quarterly and annual bonuses.

If there is a difference between this document and the program Terms and Conditions, the Terms and Conditions control.

Quality Care Bonus opportunities

You can find information about your quarterly/annual incentive performance and payment on the ACO Summary and Quality Care Detail worksheets, which are available in your Patient Care Opportunity Report (PCOR). To access your PCOR, please contact your UnitedHealthcare representative.

Payment schedule

Your payment information will be available in your PCOR quarterly as follows:

- Q1: May 2024
- Q2: August 2024
- Q3: November 2024
- Q4: April Runout 2025

The payments are based on your attributed membership at the time of payment.



Questions?

If you have questions, please visit our **Contact Us** page.



Calculating Quality Care Bonus opportunities

To calculate each quarterly earning opportunity, please see the information in your exported Summary.

Bonus opportunity	Payment amount	
Osteoporosis Management in Women Who Had a Fracture (OMW)	\$20	
Controlling High Blood Pressure (CBP)*	\$20	
Transitions of Care TRCMRP - Medication Reconciliation Post-Discharge	\$20	
Follow-Up After Emergency Department Visit for People With Multiple High-Risk Chronic Conditions (FMC)	\$20	
Kidney Health Evaluation for Patients With Diabetes (KED)	\$20	
High Priority Annual Care Visit (High Priority ACV) Dates of service: Jan. 1-April 30, 2024	\$150	

Example Q1 Quality Care Bonus payment

Bonus opportunity	Payment amount	Total completed	Earning opportunity
Osteoporosis Management in Women Who Had a Fracture (OMW)	\$20	10	\$200
Controlling High Blood Pressure (CBP)*	\$20	-	-
Transitions of Care TRCMRP – Medication Reconciliation Post-Discharge	\$20	10	\$200
Follow-Up After Emergency Department Visit for People With Multiple High-Risk Chronic Conditions (FMC)	\$20	15	\$300
Kidney Health Evaluation for Patients With Diabetes (KED)	\$20	24	\$480
High Priority Annual Care Visit (High Priority ACV)	\$150	70	\$10,500
			Total: \$11,680

Calculating the ACV Achievement Bonus opportunity

You can earn an additional bonus when you achieve an Average Star Rating (ASR) of 4.25 or higher and complete ACVs for at least 70% of your patients who are MA-APCPi customers. We pay this bonus at the end of the program year.

Percentage of ACVs completed	Payment for ACV Achievement Bonus per member per year (PMPY)
90% and above	\$125 PMPY
80-89%	\$100 PMPY
70–79%	\$75 PMPY
Less than 70%	\$0



 $^{^{\}star}\mbox{We'II}$ pay the CBP bonus annually based on the member's final CBP value of the year.

Example Q4 ACV Achievement Bonus and ACV superior bonus payment

In this example, the provider achieved an ASR of 4.40 and 79% ACV completion at year-end, earning the \$75 PMPY ACV Achievement Bonus.

ACV Achievement Bonus	ASR	ACV completion rate	ACV Achievement Bonus (PMPY)	Total ACO members	Earning opportunity
You're eligible if you have a year-end ASR of 4.25 or higher and achieve at least 70% ACV completion at end of program year	4.40	79%	\$75	1,500	\$112,500

Average Star Rating Bonus incentive

MA-APCPi ASR	Payment amount
4.75 and above	\$150 PMPY
4.50-4.74	\$125 PMPY
4.25-4.49	\$50 PMPY
4.00-4.24	\$25 PMPY
3.99 and below	\$0 PMPY

Example MA-APCPi ASR

In this example, the provider achieved a 4.40 ASR and is eligible to receive \$50 PMPY.

MA-APCPi ASR	Payment amount	Total MA-APCPi members**	Earning opportunity
4.75 and above	\$150 PMPY	#	N/A
4.50-4.74	\$125 PMPY	#	N/A
4.25-4.49	\$50 PMPY	1,500	\$75,000
4.00-4.24	\$25 PMPY	#	N/A
3.99 and below	\$0 PMPY	#	N/A



 $[\]ensuremath{^{*}}\ensuremath{^{*}}\ensuremath{^{This}}$ information can be found in the ACO Summary Tab of your PCOR.

Calculating 2025 MA-APCPi payments

The Medicare Advantage Advanced Primary Care Physician Incentive (MA-APCPi) program rewards you for helping UnitedHealthcare® Medicare Advantage members get the quality care they need to live healthier lives. When you participate in the program, you can earn quarterly and annual bonuses.

If there is a difference between this document and the program Terms and Conditions, the Terms and Conditions control.

Quality Care Bonus opportunities

You can find information about your quarterly/annual incentive performance and payment on the ACO Summary and Quality Care Detail worksheets, which are available in your Patient Care Opportunity Report (PCOR). To access your PCOR, please contact your UnitedHealthcare representative.

Payment information and schedule

Your payment information will be available in your PCOR quarterly as follows:

- Q1: May 2025
- Q2: August 2025
- Q3: November 2025
- Q4: April Runout 2026

The payments are based on your attributed membership at the time of payment.



Questions?

If you have questions, please visit our **Contact us** page.



Calculating Quality Care Bonus opportunities

To calculate each quarterly earning opportunity, please see the information in your exported PCOR Summary.

Bonus opportunity	Payment amount
Controlling High Blood Pressure (CBP) ¹	\$20
High Priority Annual Care Visit (High Priority ACV)	\$50
Osteoporosis Management in Women Who Had a Fracture (OMW)	\$50
Statin Therapy for Patients With Cardiovascular Disease (SPC)	\$30
Statin Use in Persons With Diabetes (SUPD)	\$30
Transitions of Care TRCMRP - Medication Reconciliation Post-Discharge ²	\$20

Example Q1 Quality Care Bonus payment

Bonus opportunity	Payment amount	Total completed	Earning opportunity
CBP	\$20	-	-
High Priority ACV	\$50	70	\$3,500
OMW	\$50	10	\$500
SPC	\$30	15	\$450
SUPD	\$30	24	\$720
TRCMRP	\$20	10	\$200
			Total: \$5,370

 $^{^{1}}$ We'll pay the CBP bonus annually based on the member's final CBP value of the year.



² With the exception of TRCMRP, compensation for Quality Care Measure closures will be limited to a single compliant closure PMPY.

Calculating the High Priority Comprehensive Care Bonus

You can earn an additional bonus of \$150 for each High Priority MA-APCPi Customer who is 100% compliant with all the following measures for which they are eligible as of the final PCOR of the year (April Runout 2026).

2025 Star Rating ID	Quality Care Measure	
C01	Breast Cancer Screening (BCS-E)	
C02	Colorectal Cancer Screening (COL-E)	
C08	Osteoporosis Management in Women Who had a Fracture (OMW)	
C09	Eye Exam for Patients With Diabetes (EED)	
C10	Glycemic Status Assessment for Patients With Diabetes (GSD)	
C11	Controlling High Blood Pressure (CBP)	
C16	Statin Therapy for Patients With Cardiovascular Disease (SPC)	
D12	Statin Use in Persons With Diabetes (SUPD)	
DMC22	Kidney Health Evaluation for Patients With Diabetes (KED)	
N/A	High Priority Annual Care Visit (High Priority ACV)	

Example Q4 High Priority Comprehensive Care Bonus

In this example, the ACO had 700 High Priority Customers who were 100% compliant in the High Priority Comprehensive Bonus as of the final PCOR of the year (April Runout 2026).

High Priority Comprehensive Care Bonus	100% compliant High Priority MA-APCPi Customer	Earning opportunity
\$150	700	\$105,000



Average Star Rating Bonus incentive

ACO will be eligible to receive a year-end per member per year (PMPY) payment if they achieve an Average Star Rating (ASR) of 4.0 or greater across all eligible MA-APCPi Quality Care Measures.

MA-APCPi ASR	Payment amount	
4.75 and above	\$150 PMPY	
4.50-4.74	\$125 PMPY	
4.25-4.49	\$50 PMPY	
4.00-4.24	\$25 PMPY	
3.99 and below	\$0 PMPY	

Average Star Rating Adjustment Bonus

ACO will be eligible to receive a positive adjustment to the Average Star Rating if the ACO meets or exceeds the performance target for any of the following Quality Care Measures.

2025 Star Rating ID	Quality Care Measure	Performance Target	Positive adjustment to ASR
C08	OMW	53%	0.05
C11	CBP	83%	0.05
C14	TRCMRP	75%	0.05

Example Q4 MA-APCPi ASR

In this example, the ACO achieved a 4.20 ASR and .05 ASR Adjustment for hitting the MRP Performance Target. ACO earned an overall ASR of 4.25 and is eligible to receive \$50 PMPY.

MA-APCPi ASR + ASR Adjustment	Payment amount	Total MA-APCPi Customers ³	Earning opportunity
4.75 and above	\$150 PMPY	#	N/A
4.50-4.74	\$125 PMPY	#	N/A
4.25-4.49	\$50 PMPY	1,500	\$75,000
4.00-4.24	\$25 PMPY	#	N/A
3.99 and below	\$0 PMPY	#	N/A

³This information can be found in the ACO Summary Tab of your PCOR.

